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COMPOUND INTEREST

[ pØo`f¼ C;kt ]

1. A sum of money invested at compound
interest amounts in 3 years to Rs. 2,400 and
in 4 years to Rs. 2,520. The interest rate per
annum is ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 3 o"kks± esa 2,400 rFkk 4 o"kks±
esa :i;s 2,520 gks tkrh gSA izfr okf"kZd nj D;k gS ?
(a) 5% (b) 6%
(c) 10% (d) 12%

2. A sum becomes Rs. 4500 after two years and
Rs. 6750 after four years at the same
compound interest. The sum is ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 2 o"kks± esa :i;s 4500 rFkk
4 o"kks± ckn :i;s 6750 gks tkrh gSA rks jkf'k D;k gS ?
(a) Rs. 4000 (b) Rs. 2500
(c) Rs. 3000 (d) Rs. 3050

3. A sum becomes Rs. 1,352 in 2 years at 4%
per annum compound interest. The sum is?

dksbZ /ujkf'k 4% okf"kZd pØo`f¼ C;kt dh nj ls 2 o"kks± esa
:i;s 1,352 gks tkrh gSA rks og /ujkf'k gS ?
(a) Rs. 1225 (b) Rs. 1270
(c) Rs. 1245 (d) Rs. 1250

4. In what time will Rs. 1000 amounts to Rs.
1331 at 20% per annum, compounded half
yearly ?

fdrus le; esa :i;s 1000 dh jkf'k 20% okf"kZd dh nj
ls :i;s 1331 gks tk,xh tcfd C;kt izfr Nekgh la;ksftr
gksrk gS ?
(a) 1½ years (b) 2 years
(c) 1 years (d) 2½ years

5. If the compound interest on a certain sum
for 2 years at 3% per annum is Rs. 101.50,
then the simple interest on the same sum
at the same rate and for the same time will
be ?

;fn fdlh fuf'pr /ujkf'k ij 2 o"kks± ds fy, 3% okf"kZd
nj ls pØo`f¼ C;kt :i;s 101.50 gS] rks leku /ujkf'k
ij] leku le; ds fy, leku nj ij lk/kj.k C;kt fdruk
gS ?
(a) Rs. 90 (b) Rs. 95.50
(c) Rs. 100 (d) Rs. 98.25

6. If the compound interest on a certain sum
for 2 years at 4% p.a. is Rs. 102, the simple
interest at the same rate of interest for two

years would be ?

;fn ,d fuf'pr /ujkf'k ij 2 o"kks± esa 4% okf"kZd nj ls
pØo`f¼ C;kt :i;s 102 gS] rks leku nj ls 2 o"kks± dk lk/
kj.k C;kt D;k gksxk ?

(a) Rs. 200 (b) Rs. 50
(c) Rs. 150 (d) Rs. 100

7. On what sum does the difference between
the compound interest and the simple
interest for 3 years at 10% is Rs. 31 ?

fdl /ujkf'k ij 10% okf"kZd nj ls 3 o"kks± dk pØo`f¼
vkSj lk/kj.k C;kt dk vUrj :i;s 31 gS ?
(a) Rs. 1500 (b) Rs. 1200
(c) Rs. 1100 (d) Rs. 1000

8. A sum of money at compound interest double
itself in 15 years. It will become eight times
of itself in ?

,d /ujkf'k pØo`f¼ C;kt ls 15 o"kks± esa viuh jkf'k dk
nksxquh gks tkrh gSA ;g jkf'k fdrus o"kks± esa viuh jkf'k dh 8
xquk gks tk,xh ?

(a) 45 years (b) 48 years
(c) 54 years (d) 60 years

9. If the amount is 2.25 times of the sum after
2 years at compound interest (compound
annually), the rate of interest per annum is
?

pØo`f¼ C;kt (okf"kZd pØo`f¼) ls dksbZ jkf'k 2 o"kks± esa
2.25 xquk gks tkrh gSA C;kt dh okf"kZd nj D;k gS ?
(a) 25% (b) 30%
(c) 45% (d) 50%

10. At what percent per annum will Rs. 3000 if
the interest is compound annually ?

fdl okf"kZd C;kt dh nj ls :i;s 3000, ;fn pØo`f¼
C;kt okf"kZd ns; gks] rks 3 o"kZ esa :i;s 3993 gks tk,xh ?
(a) 9% (b) 10%
(c) 11% (d) 13%

11. The compound interest on Rs. 10,000 in 2
years at 4% per annum, the interest being
compound half-yearly, is ?

v¼Z&okf"kZd :i ls la;ksftr_ 10,000 dk 4% okf"kZd nj
ls 2 o"kZ dk pØo`f¼ C;kt D;k gS ?
(a) Rs. 636.80 (b) Rs. 824.32
(c) Rs. 912.86 (d) Rs. 825.82
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12. In how many years will Rs. 2,000 amounts
to Rs. 2,420 at 10% per annum compound
interest ?

fdrus le; esa :i;s 2,000, 10% okf"kZd pØo`f¼ C;kt
dh nj ls :i;s 2,420 gksxh ?
(a) 3 years (b) 2½ years
(c) 2 years (d) 1½ years

13. If the difference between the compound
interest, compounded every six months, and
the simple interest on a certain sum of
money at the rate of 12% per annum for one
year is Rs. 36, the sum is ?

v¼Zokf"kZd :i ls fu;ksftr] ;fn fdlh /ujkf'k ij 12%

okf"kZd nj ls pØo`f¼ C;kt rFkk lk/kj.k C;kt dk vUrj 1
o"kZ ds fy, :i;s 30 gS] rks jkf'k D;k gS ?
(a) Rs. 10,000 (b) Rs. 12,000
(c) Rs. 15,000 (d) Rs. 9,000

14. What is the difference between compound
interest on Rs. 5,000 for 1½ years at 4% per
annum according as the interest is
compounded yearly or half-yearly ?

;fn C;kt okf"kZd vFkok v¼Z&okf"kZd nj ls 1½ o"kZ esa
pØo`f¼ C;kt dk vUrj D;k gksxk ?
(a) Rs. 2.04 (b) Rs. 3.06
(c) Rs. 8.30 (d) Rs. 4.80

15. A builder borrows Rs. 2550 to be paid back
with compound interest at the rate of 4% per
annum by the end of 2 years in two equal
yearly installments. How much will each
installment be ?

,d fcYMj }kjk m/kj yh xbZ jkf'k dk 4% okf"kZd pØo`f¼
C;kt dh nj ls] nks o"kks± ds var rd :i;s 2550 dh jkf'k
dks nks cjkcj fdLrksa esa pqdkrk gSA rks izR;sd fdLr fdruh gS?
(a) Rs. 1352 (b) Rs. 1377
(c) Rs. 1275 (d) Rs. 1283

16. The difference between the simple and
compound interest on a certain sum of
money at 5% rate of interest per annum for
2 years is Rs. 15. Then the sum is ?

fdlh /ujkf'k ij 5% okf"kZd C;kt dh nj ls 2 o"kks± ds lk/
kj.k vkSj pØo`f¼ C;ktksa dk vUrj :i;s 15 gSA rc og /
ujkf'k gS ?
(a) Rs. 6,500 (b) Rs. 5,500
(c) Rs. 6,000 (d) Rs. 7,000

17. If the difference between the compound
interest and simple interest on a sum of 5%
rate of interest per annum for three years is
Rs. 36.60, then the sum is ?

;fn fdlh /ujkf'k ij 5% okf"kZd nj ls 3 o"kks± ds lk/kj.k
vkSj pØo`f¼ C;ktksa dk vUrj :i;s 36.60 gks] rks /ujkf'k
gS ?

(a) Rs. 8,000 (b) Rs. 8,400
(c) Rs. 4,400 (d) Rs. 4,800

18. A sum of money doubles itself in 4 years
compound interest. It will amount to 8 times
itself at the same rate of interest in ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 4 o"kks± esa viuh nqxquh gks
tkrh gSA og jkf'k vius ls 8 xquh mlh C;kt dh nj ls fuEu
le; esa gks tk,xh ?
(a) 18 years (b) 12 years
(c) 16 years (d) 24 years

19. A sum borrowed under compound interest
doubles itself in 10 years. When will it
become fourfold of itself at the same rate of
interest ?

pØo`f¼ C;kt ds varxZr m/kj yh xbZ ,d /ujkf'k 10 o"kks±
esa nqxquh gks tkrh gSA og jkf'k mlh C;kt dh nj ij fdrus
le; esa vius ls pkj xquh gks tk,xh ?
(a) 15 years (b) 20 years
(c) 24 years (d) 40 years

20. A sum of money invested at compound
interest doubles itself in 6 years. At the same
rate of interest, it will amount to eight times
of itself in ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 6 o"kks± esa nqxquh gks tkrh gSA
og jkf'k vius ls vkB&xquh mlh C;kt dh nj ls fuEu le;
esa gks tk,xh ?
(a) 12 years (b) 14 years
(c) 18 years (d) 10 years

21. If the compound interest on a sum of money
for 3 years at the rate of 5% per annum is
Rs. 252.20, the simple interest on the same
sum at the same rate and for the same time
is ?

;fn fdlh fuf'pr /ujkf'k ij 3 o"kks± ds fy, 5% okf"kZd
nj ls pØo`f¼ C;kt :i;s 252.20 gks] rks leku /ujkf'k
ij] leku le; ds fy, leku nj ij lk/kj.k C;kt fdruk
gS ?
(a) Rs. 220 (b) Rs. 240
(c) Rs. 245 (d) Rs. 250

22. On a certain sum of money the compound
interest for 2 years is Rs. 282.15 and the
simple interest for the same period of time
is Rs. 270. The rate of interest per annum
is ?

fdlh fuf'pr /ujkf'k ij nks o"kks± ds fy, pØo`f¼ C;kt
282.15 rFkk leku le;kof/ ds fy, lk/kj.k C;kt 270

:i;s gSA rks C;kt dh okf"kZd nj gS ?
(a) 6.07% (b) 10%
(c) 9% (d) 12.15%

23. The difference between compound interest
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and simple interest on Rs. 2500 for 2 years
at 4% per annum is ?

:i;s 2500 dh /ujkf'k ij 4% okf"kZd nj ls 2 o"kks± ds
fy, pØo`f¼ C;kt rFkk lk/kj.k C;kt dk vUrj D;k gksxk
?
(a) Rs. 40 (b) Rs. 45
(c) Rs. 14 (d) Rs. 4

24. The difference between simple and
compound interest (compounded annually)
on a sum of money for 2 years at 10% per
annum is Rs. 65. The sum is ?

fdlh /ujkf'k ij 2 o"kZ ds fy, 10% okf"kZd nj ls lk/kj.k
rFkk pØo`f¼ C;kt okf"kZd fu;ksftr dk vUrj :i;s 65 gSA
rks /ujkf'k D;k gS ?
(a) Rs. 65650 (b) Rs. 65065
(c) Rs. 6565 (d) Rs. 6500

25. The difference between simple and
compound interest (compounded annually)
on a certain sum of money for 2 years at 4%
annum is Rs. 1. The sum (in Rs.) is ?

fdlh fuf'pr /ujkf'k ij 2 o"kZ ds fy, 4% okf"kZd nj ls
lk/kj.k rFkk pØo`f¼ C;kt okf"kZd fu;ksftr dk varj :i;s
1 gS] rks /ujkf'k D;k gS ?
(a) Rs. 650 (b) Rs. 630
(c) Rs. 625 (d) Rs. 640

26. A sum of money invested at compound
interest amounts to Rs. 650 at the end of
first year and Rs. 676 at the end of second
year. The sum of money is ?

dksbZ /ujkf'k pØòf¼ C;kt ls igys o"kZ ds var esa 650 rFkk
nwljs o"kZ ds var esa 676 gks tkrk gSA rks og /ujkf'k D;k gS
?
(a) Rs. 600 (b) Rs. 540
(c) Rs. 625 (d) Rs. 560

27. In what time will Rs. 1000 becomes Rs. 1331
at 10% per annum compounded annually ?

10% pØo`f¼ okf"kZd C;kt dh nj ls :i;s 1000 fdrus
le; esa :i;s 1331 gks tk,axs ?
(a) 3 years (b) 2½ years
(c) 2 years (d) 3½ years

28. The principal, which will amount to Rs.
270.40 in 2 years at the rate of 4% per
annum compound interest, is ?

og /ujkf'k tks 4% okf"kZd pØo`f¼ C;kt nj ls 2 o"kks± esa
270.40 gks tkrh gS ?
(a) Rs. 200 (b) Rs. 225
(c) Rs. 250 (d) Rs. 220

29. At what rate percent per annum will Rs.
2304 amount to Rs. 2500 in 2 years at
compound interest ?

fdl okf"kZd C;kt dh nj ls :i;s 2304 pØo`f¼ C;kt ls
2 o"kZ esa :i;s 2500 gks tk,axs ?

(a) 4
1

2
% (b) 4

1

5
%

(c) 4
1

6
% (d) 4

1

3
%

30. If the compound interest on a sum for 2 years
at 12½% per annum is Rs. 510, the simple
interest on the same sum at the same rate
for the same period of time is ?

12½% okf"kZd nj ls 2 o"kZ ds fy, fdlh jkf'k ij pØof̀¼
C;kt :i;s 510 gS] rks mlh nj ls mlh jkf'k ij mlh vof/
ds fy, lkèkkj.k C;kt fdruk gksxk ?
(a) Rs. 400 (b) Rs. 480
(c) Rs. 450 (d) Rs. 460

31. The compound interest on a certain sum of
money at a certain rate for 2 years is Rs.
40.80 and the simple interest on the same
sum is Rs. 40 at the same rate and for the
same time. The rate of interest is ?

,d fu'fpr /ujkf'k ij] ,d fuf'pr nj ls 2 o"kks± ds fy,
pØo`f¼ C;kt :i;s 40.80 gS vkSj mlh /ujkf'k ij leku
nj ls rFkk leku le; ds fy, lk/kj.k C;kt :i;s 40 gS]
rks nj izfr'kr D;k gS ?
(a) 2% per annum (b) 3% per annum
(c) 4% per annum (d) 5% per annum

32. The compound interest on a certain sum of
money invested for 2 years at 5% per annum
is Rs. 328. the simple interest on the sum,
at the same rate and for the same period
will be ?

fuf'pr /ujkf'k ij 2 o"kks± ds fy, 5% okf"kZd nj ls
pØo`f¼ C;kt :i;s 328 gSA bl /ujkf'k ij leku nj ls
rFkk leku vof/ ds fy, lk/kj.k C;kt fdruk gksxk ?
(a) Rs. 320 (b) Rs. 308
(c) Rs. 300 (d) Rs. 287

33. The difference between the compound
interest (compounded annually) and the
simple interest on a sum of Rs. 1000 at a
certain rate of interest for 2 years is Rs. 10.
The rate of interest per annum is ?

:i;s 1000 dh /ujkf'k ij 2 o"kZ ds fy, fdlh fuf'pr
/ujkf'k ij pØo`f¼ C;kt (okf"kZd lek;ksftr) rFkk lk/
kj.k C;kt dk vUrj :i;s 10 gS C;kt dh okf"kZd nj gS ?
(a) 5% (b) 6%
(c) 10% (d) 12%

34. The difference between simple and
compound interest on a sum of money at 4%
per annum for 2 years is Rs. 8. The sum is ?
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fdlh /ujkf'k ij 4% okf"kZd nj ls 2 o"kks± dk lk/kj.k C;kt
rFkk pØo`f¼ C;kt dk vUrj :i;s 8 gS] rks /ujkf'k gS ?
(a) Rs. 400 (b) Rs. 800
(c) Rs. 4,000 (d) Rs. 5,000

35. A sum of money becomes eight times of itself
in 3 years at compound interest. The rate of
interest per annum is ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 3 o"kks± esa Lo;a dh vkB xquh
gks tkrh gS] rks C;kt nj izfr okf"kZd D;k gS ?
(a) 100% (b) 80%
(c) 20% (d) 10%

36. A sum of money on compound interest
amounts to Rs. 10648 in 3 years and Rs.
9680 in 2 years. The rate of interest per
annum is ?

,d /ujkf'k pØo`f¼ C;kt ls 3 o"kks± esa :i;s 10648 rFkk
2 o"kks± esa :i;s 9680 gks tkrh gS] rks izfr okf"kZd C;kt nj
gS ?
(a) 5% (b) 10%
(c) 15% (d) 20%

37. If the difference between the simple and
compound interests on a sum of money for 2
years at 4% per annum is Rs. 800, the sum
is ?

fdlh /ujkf'k ij 2 o"kks± ds fy, 4% okf"kZd nj ls pØòf¼
C;kt rFkk lk/kj.k C;kt dk varj :i;s 800 gS] rks /ujkf'k
gS ?
(a) Rs. 50,000 (b) Rs. 5,00,000
(c) Rs. 1,00,000 (d) Rs. 10,000

38. The difference between simple and
compound interest on a certain sum of
money for 2 years at 4% annum is Rs. 10.
The sum of money is ?

fdlh fuf'pr /ujkf'k ij 4% okf"kZd nj ls 2 o"kks± dk lk/
kj.k rFkk pØo`f¼ C;kt dk vUrj :i;s 10 gSA rks /ujkf'k
gS ?
(a) Rs. 6000 (b) Rs. 6250
(c) Rs. 5600 (d) Rs. 6500

39. The difference between the simple and
compound interest on a certain sum of
money for 2 years at 4% per annum is Rs. 4.
The sum is ?

fdlh fuf'pr /ujkf'k ij 4% okf"kZd nj ls 2 o"kks± dk lk/
kj.k rFkk pØo`f¼ C;kt dk vUrj :i;s 4 gSA rks /ujkf'k
gS ?
(a) Rs. 2500 (b) Rs. 2400
(c) Rs. 2600 (d) Rs. 2000

40. A sum of money placed at compound interest
doubles itself in 15 years. In how many
years, it would amount to eight times of itself

at the same rate of interest ?

pØo`f¼ C;kt ls dksbZ /ujkf'k 15 o"kks± esa [kqn dh nqxquh gks
tkrh gSA rks leku C;kt dh nj ls fdrus o"kks± esa og [kqn dh
vkB xquh gks tk,xh ?
(a) 30 years (b) 45 years
(c) 21 years (d) 60 years

41. The compound interest on Rs. 16,000 for 9
months at 20% per annum, interest being
compounded quarterly is ?

:i;s 16,000 dh /ujkf'k ij 20% okf"kZd nj ls 9 eghus
dk pØo`f¼ C;kt gksxk] ;fn C;kt nj f=kekfld ns; gS ?
(a) Rs. 2,520 (b) Rs. 2,524
(c) Rs. 2,522 (d) Rs. 2,518

42. If the rate of interest be 4% per annum for
first year, 5% per annum for second year and
6% per annum for third year, the the
compound interest of Rs. 10,000 for 3 years
will be ?

;fn C;kt dh nj igys o"kZ ds fy, 4% izfr okf"kZd] nwljs
o"kZ ds fy, 5% okf"kZd rFkk 6% okf"kZd rhljs o"kZ ds fy,
gS rks :i;s 10,000 dh /ujkf'k ij 3 o"kZ esa pØo`f¼ C;kt
D;k gksxk ?
(a) Rs. 1,600 (b) Rs. 1,625.80
(c) Rs. 1,575.20 (d) Rs. 2,000

43. Compound interest on a sum of money for 2
years at 4 percent per annum is Rs. 2,448.
Simple interest on the same sum of money
at the same rate of interest for 2 years will
be ?

fdlh /ujkf'k ij 4% okf"kZd nj ls 2 o"kks± dk pØo`f¼
C;kt :i;s 2,448 gSA rks mlh /ujkf'k ij leku C;kt nj
ls 2 o"kks± dk lk/kj.k C;kt D;k gksxk ?
(a) Rs. 2500 (b) Rs. 2400
(c) Rs. 2360 (d) Rs. 2250

44. If the difference between tghe compound and
simple interests on a certain sum of money
for 3 years at 5% per annum is Rs. 15.25,
then the sum is ?

fdlh fuf'pr /ujkf'k ij 5% okf"kZd nj ls 3 o"kks± dk
pØo`f¼ rFkk lk/kj.k C;kt dk varj :i;s 15.25 gS] rks
/ujkf'k gS ?
(a) Rs. 2000 (b) Rs. 1000
(c) Rs. 1500 (d) Rs. 2500

45. The difference between compound interest
and simple interest on a sum for 2 years at
8 percent is Rs. 768. The sum is ?

fdlh /ujkf'k ij 8% okf"kZd nj ls 2 o"kks± dk pØo`f¼ rFkk
lk/kj.k C;kt dk vUrj :i;s 768 gS] rks /ujkf'k gS ?
(a) Rs. 1,00,000 (b) Rs. 1,10,000
(c) Rs. 1,20,000 (d) Rs. 1,70,000
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46. A person deposited a sum of Rs. 6,000 in a
bank at 5% per annum simple interest.
Another person deposited Rs. 5,000 at 8%
per annum compound interest. After two
years, the difference of their interests will
be ?

,d O;fDr 6,000 dh /ujkf'k 5% okf"kZd lk/kj.k C;kt
dh nj ls tek djrk gSA nwljs O;fDr :i;s 5,000, 8%

okf"kZd pØo`f¼ nj ls tek djrk gS] rks nks o"kks± ckn] muds
C;kt dk varj gksxk ?
(a) Rs. 230 (b) Rs. 232
(c) Rs. 832 (d) Rs. 600

47. The compound interest on Rs. 2000 in 2 years
if the rate of interest is 4% per annum for
the first year and 3% per annum for the
second year, will be ?

:i;s 2000 dh /ujkf'k ij 2 o"kZ ds fy, pØo`f¼ C;kt
D;k gksxk] ;fn okf"kZd C;kt nj igys o"kZ ds fy, 4% gks]
vkSj nwljs o"kZ ds fy, 3% okf"kZd nj gks ?
(a) Rs. 142.40 (b) Rs. 140.40
(c) Rs. 141.40 (d) Rs. 143.40

48. At what rate per annum will Rs. 32000 yield
a compound interest of Rs. 5044 in 9 months
interest being compounded quarterly ?

;fn C;kt =kSekfld :i ls la;ksftr gks] rks C;kt ds fdl
okf"kZd nj ls :i;s 32000 dk 9 ekl dk pØo`f¼ C;kt
:i;s 5044 gksxk ?
(a) 20% (b) 32%
(c) 50% (d) 80%

49. The compounded interest on Rs. 8,000 at
15% per annum for 2 years 4 months,
compounded annually is ?

:i;s 8,000 dh /ujkf'k ij 15% okf"kZd nj ls 2 o"kZ 4
eghus dk pØof̀¼ C;kt gksxk] ;fn C;kt nj okf"kZd la;ksftr
gks ?
(a) Rs. 2980 (b) Rs. 3091
(c) Rs. 3109 (d) Rs. 3100

50. The difference between the compound and
the simple interests on a sum for 2 years at
10% per annum, when the interest is
compounded annually, is Rs. 28. If the yearly
interest were compounded half-yearly, the
difference in the two interests will be ?

;fn C;kt okf"kZd la;ksftr gks] rks fdlh /ujkf'k ij 10%

okf"kZd nj ls 2 o"kks± dk pØòf¼ rFkk lk/kj.k C;kt dk varj
:i;s 28 gSA ;fn okf"kZd C;kt nj Nekgh gks rks nksuksa rjg
ds C;ktksa esa fdruk varj gS ?
(a) Rs. 44 (b) Rs. 28.35
(c) Rs. 43.41 (d) Rs. 43.29

51. A sum of Rs. 6,000 is deposited for 3 years

at 5% per annum compound interest
(compounded annually). The difference of
interests for 3 and 2 years will be ?

:i;s 6,000 dh dksbZ /ujkf'k 5% okf"kZd pØo`f¼ C;kt
dh nj ls 3 o"kks± ds fy, tek dh tkrh gSA 3 o"kZ rFkk 2 o"kZ
ds C;kt dk vUrj gksxk ?

(a) Rs. 75 (b) Rs. 30.75
(c) Rs. 330.75 (d) Rs. 375

52. The difference between compounded interest
(compounded annually) and simple interest
on a certain sum of money t 10% per annum
for 2 years is Rs. 40. The sum is ?

fdlh fuf'pr /ujkf'k ij 10% okf"kZd nj ls 2 o"kks± dk
pØo`f¼ C;kt (okf"kZd lek;ksftr) rFkk lk/kj.k C;kt dk
vUrj :i;s 40 gS] rks og jkf'k gS ?
(a) Rs. 4,000 (b) Rs. 3,600
(c) Rs. 4,200 (d) Rs. 3,200

53. A sum of money amounts to Rs. 4,840 in 2
years and to Rs. 5,324 in 3 years at
compound interest (compounded annually).
The rate of interests per annum is ?

,d /ujkf'k pØo`f¼ C;kt ls (okf"kZd lek;ksftr) 2 o"kks±
esa :i;s 4,840 rFkk 3 o"kks± esa :i;s 5,324 gks tkrh gSA
rks C;kt dh izfr okf"kZd nj gS ?
(a) 10% (b) 9%
(c) 11% (d) 8%

54. A man buys a scooter on making a cash
down payment of Rs. 16224 and promises to
pay two more yearly installments of
equivalent amount in next two years. If the
rate of interest is 4% per annum,
compounded yearly, the cash value of the
scooter is ?

,d O;fDr :i;s 16224 ds uxn Hkqxrku rFkk nks vU;
mruh gh èkujkf'k dh okf"kZd fdLrsa vxys nks o"kks± esa nsus ds
ok;ns ds lkFk ,d LdwVj [kjhnrk gSA ;fn C;kt dh nj 4%

tcfd C;kt okf"kZd :i ls la;ksftr gS] rks LdwVj dk uxj
Hkqxrku ewY; gS ?
(a) Rs. 40,000 (b) Rs. 46,824
(c) Rs. 46,000 (d) Rs. 50,000

55. A money-lender borrows money at 4% per
annum and pays the interest at the end of
the year. He lends it at 6% per annum
compound interest compounded half-yearly
and receives the interest at the end of the
year. In this way, he gains Rs. 104.50 a year.
The amount of money he borrows, is ?

,d lkgwdkj 4% okf"kZd C;kt dh nj ls /u m/kj ysrs gS
rFkk C;kt dks o"kZ ds var esa ykSVkrk gSA og /ujkf'k dks 6%

okf"kZd pØo`f¼ C;kt dh nj ls] tcfd C;kt v¼Zokf"kZd
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:i ls la;ksftr gksrk gS] mèkkj nsrk gS rFkk o"kZ ds var esa gh
C;kt ysrk gSA bl izdkj izfr o"kZ og :i;s 104.50 dk
ykHk izkIr djrk gSA mlds }kjk m/kj yh x;h /ujkf'k gS ?
(a) Rs. 6,000 (b) Rs. 5,500
(c) Rs. 5,000 (d) Rs. 4,500

56. A certain sum of money yields Rs. 1261 as
compound interest for 3 years at 5% per
annum. The sum is ?

dksbZ fuf'pr /ujkf'k ij 5% okf"kZd nj ls 3 o"kks± dk
pØo`f¼ C;kt :i;s 1261 gSA rks /ujkf'k gS ?
(a) Rs. 9000 (b) Rs. 8400
(c) Rs. 7500 (d) Rs. 8000

57. A certain sum, invested at 4% per annum
compound interest, compounded half-yearly,
amounts to Rs. 7,803 at the end of one year.
The sum is ?

v¼Z&okf"kZd :i ls fu;ksftr] dksbZ fuf'pr /ujkf'k 4%

okf"kZd pØo`f¼ C;kt ls 1 o"kZ ds var esa :i;s 7,803 gks
tkrh gSA rks og èkujkf'k gS ?
(a) Rs. 7,000 (b) Rs. 7,200
(c) Rs. 7,500 (d) Rs. 7,700

58. A certain sum amounts to Rs. 5,832 in 2
years at 8% per annum compound interest,
the sum is ?

dksbZ fuf'pr /ujkf'k 8% okf"kZd pØo`f¼ C;kt dh nj ls
2 o"kks± esa :i;s 5,832 gks tkrh gSA rks og /ujkf'k gS ?
(a) Rs. 5,000 (b) Rs. 5,200
(c) Rs. 5,280 (d) Rs. 5,400

59. The compound interest on Rs. 6,000 at 10%
per annum for 1½ years, when the interest
being compounded annually, is ?

C;kt tc okf"kZd :i ls fu;ksftr gks] rks :i;s 6,000 dh
jkf'k ij 10% okf"kZd nj ls 1½ o"kZ esa pØo`f¼ C;kt D;k
gksxk ?
(a) Rs. 910 (b) Rs. 870
(c) Rs. 930 (d) Rs. 900

60. At a certain rate per annum, the simple
interest on a sum of money for one year is
Rs. 260 and the compound interest on the
same sum for two years is Rs. 540.80. The
rate of interest per annum is ?

fuf'pr C;kt dh nj ls] fdlh /ujkf'k ij 1 o"kZ dk lk/
kj.k C;kt :i;s 260 gSA mlh jkf'k ij nks o"kks± dk pØo`f¼
C;kt :i;s 540.80 gSA rks C;kt dh nj izfr okf"kZd gS ?
(a) 4% (b) 6%
(c) 8% (d) 10%

61. The simple interest on a sum of money at
4% per annum for 2 years is Rs. 80. The
compound interest in the same sum for the
same period is ?

fdlh /ujkf'k ij 4% okf"kZd nj ls 2 o"kks± dk lk/kj.k C;kt
:i;s 80 gSA mlh /ujkf'k ij leku vof/ ds fy, pØòf¼
C;kt fdruk gksxk ?
(a) Rs. 82.60 (b) Rs. 82.20
(c) Rs. 81.80 (d) Rs. 81.60

62. The compound interest on a certain sum of
money at 5% per annum for 2 years is Rs.
246. The simple interest on the same sum
for 3 years at 6% per annum is ?

fdlh fuf'pr /ujkf'k ij 5% okf"kZd nj ls 2 o"kks± dk
pØo`f¼ C;kt :i;s 246 gSA mlh /ujkf'k ij 6% okf"kZd
nj ls 3 o"kks± dk lk/kj.k C;kt gksxk ?
(a) Rs. 435 (b) Rs. 450
(c) Rs. 430 (d) Rs. 432

63. The simple interest and compound interest
(compounded annually) on a certain sum of
money with a given rate for a period of 2
years are Rs. 900 and Rs. 954 respectively.
The sum of money is ?

fdlh fuf'pr /ujkf'k ij fdlh nj ls 2 o"kks± dk lk/kj.k
C;kt rFkk pØo`f¼ C;kt Øe'k% :i;s 900 rFkk :i;s
954 gSA rks /ujkf'k dk eku D;k gS ?

(a) Rs. 3700 (b) Rs. 3650
(c) Rs. 3850 (d) Rs. 3750

64. The difference between compound and
simple interest on a certain sum for 3 years
at 5% per annum is Rs. 122. The sum is ?

fdlh fuf'pr /ujkf'k ij 5% okf"kZd nj ls 3 o"kks± dk
pØo`f¼ rFkk lk/kj.k C;kt dk vUrj :i;s 122 gks] rks /
ujkf'k gS ?
(a) Rs. 16,000 (b) Rs. 15,000
(c) Rs. 12,000 (d) Rs. 10,000

65. A certain sum of money amounts to Rs. 2,420
in 2 years and Rs. 2,662 in 3 years at same
rate of compound interest, compounded
annually. The rate of interest per annum is
?

leku pØo`f¼ C;kt dh nj ls] dksbZ fuf'pr /ujkf'k 2 o"kks±
esa :i;s 2,420 rFkk 3 o"kks± esa :i;s 2,662 gks tkrh gSA
C;kt dh okf"kZd nj gS ?
(a) 6% (b) 8%
(c) 9% (d) 10%

66. Kamal took Rs. 6800 as a loan which along
with interest is to be repaid in two equal
annual installments. If the rate of interests
is 12½%, compounded annually, then the
value of each installment is ?

dey us :i;s 6800 m/kj ds :i esa fy,] ftudk C;kt
lfgr] nks leku okf"kZd fdLrksa esa Hkqxrku fd;k tkuk gSA ;fn
okf"kZd :i ls la;ksftr C;kt dh nj 12½% gS] rks izR;sd
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fdLr dh jkf'k gS ?
(a) Rs. 8100 (b) Rs. 4150
(c) Rs. 4050 (d) Rs. 4000

67. A sum of Rs. 13,360 was borrowed at 8
3

4
%

per annum compound interest and paid back
in two years in two equal annual
installments. What was the amount of each
installment ?

:i;s 13,360 dh /ujkf'k 8
3

4
% okf"kZd pØo`f¼ C;kt

dh nj ls mèkkj dh x;h rFkk mldk okilh Hkqxrku nks o"kZ esa
nks leku okf"kZd fdLrksa ds }kjk fd;k x;kA izR;sd fdLr dh
jkf'k fdruh Fkh ?
(a) Rs. 5,769 (b) Rs. 7,769
(c) Rs. 7,009 (d) Rs. 7,500

68. A loan of Rs. 12,300 at 5% per annum
compound interest, is to be repaid in two
equal annual installments at the end of
every year. Find the amount of each
installment ?

:i;s 12,300 dh jkf'k dk ½.k 5% okf"kZd pØo`f¼
C;kt dh nj ls] gj o"kZ ds var esa nks leku fdLrsa nsdj
pqdkuk gSA rks izR;sd fdLr dh jkf'k Kkr djsa ?
(a) Rs. 6,651 (b) Rs. 6,615
(c) Rs. 6,516 (d) Rs. 6,156

69. At what rate percent per annum will a sum
of Rs. 1,000 amounts to Rs. 1,102.50 in 2
years at compound interest ?

fdl izfr'kr okf"kZd pØo`f¼ C;kt dh nj ls :i;s 1,000

dh èkujkf'k nks o"kks± esa :i;s 1,102.50 gks tk,xh ?

(a) 5% (b) 5.5%
(c) 6% (d) 6.5%

70. In how many years will a sum of Rs. 800 at
10% per annum compound interest,
compounded semi-annually becomes Rs.
926.10 ?

fdrus o"kks± esa :i;s 800 dh /ujkf'k 10% okf"kZd pØòf¼
C;kt dh nj ls :i;s 925.10 gks tk,xh] ;fn C;kt
v¼Z&okf"kZd fu;ksftr gks ?

(a) 1
1

2
 year (b) 1

2

3
 years

(c) 2
1

3
 years (d) 2

1

2
 years

71. An amount of Rs. 6,000 lent at 5% per
annum compound interest for 2 years will
become ?

6,000 :i;s dh m/kj yh xbZ jkf'k 5% okf"kZd pØo`f¼
C;kt dh nj ls 2 o"kks± esa fdruh gks tk,xh ?

(a) Rs. 600 (b) Rs. 6,600
(c) Rs. 6,610 (d) Rs. 6,615

72. A sum of Rs. 12,000 deposited at compound
interest becomes double after 5 years. How
much will it be after 20 years ?

12,000 :i;s dh tek dh xbZ jkf'k pØo`f¼ C;kt ls 5
o"kks± esa nqxquh gks tkrh gSA ;g jkf'k 20 o"kks± esa fdruh gks
tk,xh ?
(a) Rs. 1,44,000 (b) Rs. 1,20,000
(c) Rs. 1,50,000 (d) Rs. 1,92,000

73. At what rate percent per annum of
compound interest, will a sum of money
become four times of itself in two years ?

pØo`f¼ C;kt dh fdl izfr'kr okf"kZd nj ls] dksbZ /ujkf'k
2 o"kks± esa Lo;a dh pkj xquh gks tkrh gS ?
(a) 100% (b) 75%
(c) 50% (d) 20%

74. A sum of money becomes double in 3 years
at compound interest compounded
annually. At the same rate, in how many
years will it become four times of itself ?

okf"kZd :i ls fu;ksftr pØo`f¼ C;kt ls dksbZ /ujkf'k 3
o"kks± esa Lo;a dh nksxquh gks tkrh gSA leku C;kt nj ls] ;g
fdrus o"kks± esa Lo;a dh pkj xquh gks tk,xh ?

(a) 4 years (b) 6 years
(c) 6.4 years (d) 7.5 years

75. The difference between simple interest and
compound interest of a certain sum of money
at 20% per annum for 2 years is Rs. 48. Then
the sum is ?

fdlh fuf'pr /ujkf'k ij 20% okf"kZd nj ls 2 o"kks± dk
lk/kj.k C;kt rFkk pØof̀¼ C;kt dk vUrj 48 :i;s gSA rks
/ujkf'k gS ?
(a) Rs. 1,000 (b) Rs. 1,200
(c) Rs. 1,500 (d) Rs. 2,000

76. The difference between the compound
interest and simple interest on Rs. 10,000
for 2 years is 25. The rate of interest per
annum is ?

10,000 :i;s dh jkf'k ij 2 o"kks± dk pØo`f¼ rFkk lk/
kj.k C;kt dk varj 25 :i;s gSaA rks C;kt dh okf"kZd nj gS?
(a) 5% (b) 7%
(c) 10% (d) 12%

77. If the difference between simple interest and
compound interest for 2 years on a sum of
money lent at 5% is Rs. 6, then the sum is ?

5% okf"kZd nj ls m/kj yh xbZ jkf'k dk 2 o"kks± dk pØo`f¼
C;kt rFkk lk/kj.k C;kt dk varj :i;s 6 gS] rks /ujkf'k gS?
(a) Rs. 2200 (b) Rs. 2400
(c) Rs. 2600 (d) Rs. 2000
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78. On a certain sum of money, the difference
between the compound interest for a year,
payable half-yearly, and the simple interest
for a year is Rs. 56. If the rate of interest in
both the cases is 16%, then the sum is ?

fdlh fuf'pr /ujkf'k ij] v¼Z&okf"kZd :i ls ns; ,d o"kZ
dk pØo`f¼ C;kt rFkk ,d o"kZ dk lk/kj.k C;kt dk vUrj
:i;s 56 gSA ;fn nksuksa dh fLFkfr esa nj 16% gks] rks og jkf'k
fdruh gS ?
(a) Rs. 1080 (b) Rs. 7805
(c) Rs. 8750 (d) Rs. 5780

79. On a certain sum of money, the difference
between the compound interest for a year,
payable half-yearly, and the simple interest
for a year is Rs. 180. If the rate of interest in
both cases is 10%, then the sum is ?

fdlh fuf'pr /ujkf'k ij] v¼Zokf"kZd :i ls ns;] ,d o"kZ
ds pØo`f¼ C;kt rFkk ,d o"kZ ds lk/kj.k C;kt dk varj
:i;s 180 gS] ;fn nksuksa dh ifjfLFkfr;ksa esa C;kt nj 10%

gks rks og /ujkf'k gS ?
(a) Rs. 60,000 (b) Rs. 72,000
(c) Rs. 62,000 (d) Rs. 54,000

80. The difference between the compound
interest and simple interest for the amount
Rs. 5,000 in 2 years is Rs. 32. The rate of
interest is ?

5,000 :i;s dh jkf'k ij 2 o"kks± dk pØo`f¼ C;kt rFkk
lk/kj.k C;kt dk varj 32 :i;s gSA rks C;kt nj gS ?
(a) 5% (b) 8%
(c) 10% (d) 12%

81. A sum of money becomes eight times in 3
years, if the rate is compounded annually.
In how much time will the same amount at
the same compound rate become sixteen
times ?

;fn C;kt nj okf"kZd :i ls lek;ksftr gS] rks ,d /ujkf'k
3 o"kks± esa 8 xquh gks tkrh gSA fdrus le; esa leku /ujkf'k
leku pØo`f¼ nj ls 16 xquk gks tk,xh ?
(a) 6 years (b) 4 years
(c) 8 years (d) 5 years

82. A sum of money placed at compound interest
double itself in 4 years. In how many years
will it amount to four times itself ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 4 o"kks± esa Lo;a dh nqxquh gks
tkrh gSA fdrus o"kks± esa ;g jkf'k Lo;a dh 4 xquh gks tk,xh ?

(a) 12 years (b) 13 years
(c) 8 years (d) 16 years

83. The compound interest on Rs. 30,000 at 7%
per annum for a certain time is Rs. 4,347.
The time is ?

30,000 :i;s dh jkf'k ij 7% okf"kZd nj ls fuf'pr le;

ds fy, pØo`f¼ C;kt 4,347 :i;s gSA og le; gS ?
(a) 3 years (b) 4 years
(c) 2 years (d) 2.5 years

84. A sum of Rs. 8000 will amount to Rs. 8820
in 2 years if the interest is calculated every
year. The rate of compound interest is ?

;fn C;kt dh x.kuk izR;sd o"kZ ds vk/kj ij dh tk,] rks
8,000 :i;s dh jkf'k nks o"kks± esa 8820 :i;s gks tk,xhA
bl izdkj] pØo`f¼ C;kt dh nj fdruh gS ?
(a) 6% (b) 7%
(c) 3% (d) 5%

85. A principal of Rs. 10,000, after 2 years
compounded annually, the rate of interest
being 10% per annum during the first year
and 12% per annum during the second year
(in rupees) will amount to ?

10,000 :i;s dk ewy/u] igys o"kZ esa 10% okf"kZd nj
ij vkSj nwljs o"kZ esa 12% okf"kZd dh nj ls] nks o"kks± dk
pØo`f¼ C;kt tksM+dj fdrus :i;s gks tk,xk ?
(a) Rs. 12,000 (b) Rs. 12,320
(c) Rs. 12,500 (d) Rs. 21,000

86. The compound interest on a certain sum of
money for 2 years at 10% per annum is Rs.
420. The simple interest on the same sum
at the same rate and for the same time will
be ?

fdlh fuf'pr /ujkf'k ij 10% okf"kZd nj ls 2 o"kks± dk
pØòf¼ C;kt :i;s 420 gSA leku /ujkf'k ij leku C;kt
nj ls rFkk leku le; ds fy, lk/kj.k C;kt fdruk gksxk ?
(a) Rs. 350 (b) Rs. 375
(c) Rs. 380 (d) Rs. 400

87. A sum of money at compound interest
amounts to thrice itself in 3 years. In how
many years will it be 9 times itself ?

dksbZ /ujkf'k pØo`f¼ C;kt ls 3 o"kks± esa Lo;a dh 3 xquh gks
tkrh gSA fdrus o"kks± esa ;g viuh 9 xquh gksxh ?
(a) 9 years (b) 27 years
(c) 6 years (d) 3 years

88. An amount of money at compound interest
grows up to Rs. 3,840 in 4 years and up to
Rs. 3,936 in 5 years. Find the rate of interest?

dksbZ /ujkf'k pØo`f¼ C;kt ls 4 o"kks± esa 3,840 :i;s rFkk
5 o"kks± esa 3,936 :i;s gks tkrh gSA rks C;kt nj Kkr djsa ?
(a) 2.5% (b) 2%
(c) 3.5% (d) 2.05%

89. A certain amount of money at r%
compounded annually after two and three
years becomes Rs. 1440 and Rs. 1728
respectively. r% is ?

dksbZ fuf'pr /ujkf'k r% okf"kZd :i ls fu;ksftr nj ls nks
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rFkk rhu o"kks± esa Øe'k% 1440 :i;s rFkk 1728 :i;s gks
tkrh gSA r% gS ?
(a) 5 (b) 10
(c) 15 (d) 20

90. The compound interest on a certain sum for
two successive years are Rs. 225 and Rs.
238.50. The rate of interest per annum is ?

fdlh fuf'pr /ujkf'k ij nks Øfed o"kks± esa pØo`f¼ C;kt
:i;s 225 rFkk :i;s 238.50 gSA izfr o"kZ okf"kZd nj gS ?
(a) 7½% (b) 5%
(c) 10% (d) 6%

91. Sita deposited Rs. 5,000 at 10% simple
interest for 2 years. How much more money
will Sita have in her account at the end of
two years. If it is compounded semiannually?

lhrk 5,000 :i;s dh jkf'k 10% okf"kZd lk/kj.k C;kt ij
2 o"kks± ds fy, tek djrh gSA ;fn lhrk dks v/Zokf"kZd C;kt
feys] rks mls [kkrs esa fdruh vf/d jkf'k fey tk;sxh] ;fn
pØo`f¼ C;kt gks ?
(a) Rs. 50 (b) Rs. 40
(c) Rs. 77.50 (d) Rs. 85.50

92. A man invests Rs. 2000 at 5% compound
interest. At the end of 3 years he will have ?

,d O;fDr 2000 :i;s dh jkf'k 5% okf"kZd pØof̀¼ C;kt
dh nj ls yxrk gSA rhu o"kks± ckn mlds ikl fdruk /u
gksxk?
(a) Rs. 2316.25 (b) Rs. 2305
(c) Rs. 2205 (d) Rs. 2315.25

93. The time in which Rs. 80,000 amounts to
Rs. 92,610 at 10% p.a. compound interest,
interest being compounded semiannually is?

C;kt v¼Zokf"kZd fu;ksftr gks] rks 80,000 :i;s dh jkf'k
10% okf"kZd pØo`f¼ C;kt nj ls fdrus o"kks± esa 92,610

:i;s gks tk,xh ?

(a) 1½ years (b) 2 years
(c) 2½ years (d) 3 years

94. A man borrows Rs. 21,000 at 10% compound
interest. How much he has to pay annually
at the end of each year, to settle his loan in
two years ?

,d vkneh 10% pØo`f¼ C;kt nj ij 21,000 :i;s dk
½.k ysrk gSA gj o"kZ ds var esa mls cjkcj fdruh fdLr nsuh
iM+sxh fd nks o"kks± esa ½.k dk Hkqxrku gks tk, ?

(a) Rs. 12,000 (b) Rs. 12,100
(c) Rs. 12,200 (d) Rs. 12,300

95. The compound interest on Rs. 5,000 for 3
years at 10% p.a. will amount to ?

5,000 :i;s dh jkf'k ij 10% izfr okf"kZd nj ls 3 o"kks±
dk pØo`f¼ C;kt fdruk gksxk ?

(a) Rs. 1,654 (b) Rs. 1,655
(c) Rs. 1,600 (d) Rs. 1,565

96. A sum of Rs. 3,200 invested at 10% p.a.
compounded quarterly amounts to Rs. 3,362.
Compute the time period ?

3200 :i;s dh jkf'k 10% okf"kZd nj ij =kSekfld vk/kj
ij pØo`f¼ C;kt ij fuos'k djus ij 3,362 :i;s gks tkrh
gSA rnuqlkj] ml fuos'k dh vof/ Kkr dhft, ?

(a) 
1

2
 year (b) 1 year

(c) 2 years (d) 
3

4
 years

97. If the compoun interest on a certain sum for
two years at 12% per annum is Rs. 2,544,
the simple interest on it at the same rate for
2 year will be ?

;fn ,d /ujkf'k ij nks o"kks± dk 12% okf"kZd nj ls pØòf¼
C;kt 2,544 :i;s gks tkrk gS] rks mlh nj ij 2 o"kks± dk
lk/kj.k C;kt fdruk gksxk ?
(a) Rs. 2400 (b) Rs. 2500
(c) Rs. 2480 (d) Rs. 2440

98. A sum becomes Rs. 2916 in 2 years at 8%
per annum compound interest. The simple
interest at 9% per annum for 3 years on the
same amount will be ?

,d jkf'k 8% izfr o"kZ pØo`f¼ C;kt dh nj ls 2 o"kks± esa
2,916 :i;s gks tkrh gSA mlh jkf'k ij 9% izfro"kZ lk/kj.k
C;kt dh nj ls 3 o"kZ ds fy, C;kt gksxk ?
(a) Rs. 600 (b) Rs. 675
(c) Rs. 650 (d) Rs. 625

99. The compound interest on a certain sum of
money at a certain rate per annum for two
years is Rs. 2,050, and the simple interest
on the same amount of money at the same
rate for 3 years is Rs. 3000. Then the sum of
money is ?

fdlh fuf'pr /ujkf'k ij ,d fuf'pr nj izfr o"kZ ls nks o"kZ
dk pØo`f¼ C;kt 2,050 :i;s gS vkSj mruh gh /ujkf'k ij
leku nj ij 3 o"kZ dk lk/kj.k C;kt 3,000 :i;s gSA rks
dqy /ujkf'k fdruh gS ?
(a) Rs. 20,000 (b) Rs. 18,000
(c) Rs. 21,000 (d) Rs. 25,000

100. The difference between the compound
interest and the simple interest on a certain
sum at 5% per annum for 2 years is Rs. 1.50.
The sum is ?

fdlh fuf'pr /ujkf'k ij 5% izfr okf"kZd nj ls 2 o"kks± dk
pØo`f¼ rFkk lk/kj.k C;kt dk varj 1.50 :i;s gSA rks /
ujkf'k gS ?
(a) Rs. 600 (b) Rs. 500
(c) Rs. 400 (d) Rs. 300
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1. (d) 2. (d) 3. (a) 4. (d) 5. (b) 6. (b) 7. (c) 8. (a) 9. (a) 10. (a)

11. (c) 12. (d) 13. (b) 14. (b) 15. (c) 16. (a) 17. (c) 18. (d) 19. (a) 20. (c)

21. (b) 22. (c) 23. (d) 24. (d) 25. (c) 26. (c) 27. (a) 28. (c) 29. (c) 30. (b)

31. (c) 32. (a) 33. (c) 34. (d) 35. (a) 36. (b) 37. (b) 38. (b) 39. (a) 40. (b)

41. (c) 42. (c) 43. (b) 44. (a) 45. (c) 46. (b) 47. (a) 48. (a) 49. (c) 50. (c)

51. (c) 52. (a) 53. (a) 54. (b) 55. (c) 56. (d) 57. (c) 58. (a) 59. (c) 60. (c)

61. (d) 62. (d) 63. (d) 64. (a) 65. (d) 66. (c) 67. (b) 68. (b) 69. (a) 70. (a)

71. (d) 72. (d) 73. (a) 74. (b) 75. (b) 76. (a) 77. (b) 78. (c) 79. (b) 80. (b)

81. (b) 82. (c) 83. (c) 84. (d) 85. (b) 86. (d) 87. (c) 88. (a) 89. (d) 90. (d)

91. (c) 92. (d) 93. (a) 94. (b) 95. (b) 96. (a) 97. (a) 98. (b) 99. (a) 100.(a)


